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QUESTION 1

Which two are true? (Choose two.) 

A. HTML can be used only for displaying images. 

B. XML is an extension of HTML. 

C. HTML is an acronym for HyperText Markup Language. 

D. HTML is the language used to publish web pages on the World Wide Web. 

Correct Answer: CD 

 

QUESTION 2

Given: 

1.

 interface Movable { 

2.

 void move(); 

3.

 void stop(); 

4.

 } 

Which is valid? 

A. public class Bicycle implements Movable {public void move() { /*...*/ }public void stop() { /*...*/ } 

B. public class Bicycle implements Movable {void move() { /*...*/ }void stop() { /*...*/ } 

C. public class Bicycle extends Movable {public void move() { /*...*/ }public void stop() { /*...*/ } 

D. public class Bicycle implements Movable {public void move() { /*...*/ } 

Correct Answer: A 

 

QUESTION 3

Which two are true? (Choose two.) 

A. An interface can implement another interface. 
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B. A class can implement more than one interface. 

C. Many classes can implement the same interface. 

D. Every class must implement at least one interface. 

Correct Answer: BC 

 

QUESTION 4

Given: 

4.

 class Example { 

5.

 int x = 50; 

6.

 int y = 100; 

7.

 public static void main(String args[]) { 

8.

 int x = 0, y = 10; 

9.

 Example ex = new Example(); 

10.

 while (x 

11.

 x++; y--; 

12.

 } 

13.

 System.out.println("x = " + x + " , y = " + y); 

14.

 } 
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15.

 } 

What is the result? 

A. Compilation fails because of an error at line 8. 

B. x = 3 , y = 7 

C. Compilation fails because of an error at line 11. 

D. Compilation fails because of an error at line 9. 

E. x = 53 , y = 97 

F. Compilation fails because of an error at line 10. 

Correct Answer: B 

 

QUESTION 5

Given: 

1.

 public abstract class Wow { 

2.

 private int wow; 

3.

 public Wow(int wow) { 

4.

 this.wow = wow; 

5.

 } 

6.

 public void wow() { } 

7.

 private void wowza() { } 

8.

 } 
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Which is true about the class Wow? 

A. It does NOT compile because an abstract class must have at least one abstract method. 

B. It does NOT compile because an abstract class CANNOT have instance variables. 

C. It compiles without error. 

D. It does NOT compile because an abstract class CANNOT have private methods. 

E. It does NOT compile because an abstract class must have a constructor with no arguments. 

Correct Answer: C 
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